
40

210091	 S35-3W Plastic Front/Rear Big Bore Diff Case	 2	 SW-210091
210079A	 S35-4 Plastic Center Big Bore HET Diff Case	1	 SW-210079A
210033-D90	 S35/350 Series Floating Fuel Filter System with 90 Degree Fuel Injectors Tank	1	 SW-210033-D90
2501115	 S350 Rear Lower Arm Dusty Cover with Fuel Sprinkle Guard	 1	 SW-2501115
2501124	 S350 Center Diff. Mount Set 	 2	 SW-2501124
2501529	 S350 BX1/BR1Rear Chassis Brace	 1	 SW-2501529
2501097B	 S35 Series Front Bumper	 1	 SW-2501097B
2501121C	 S35/S350 Series Ball End Set with Shock Plastic Parts 	2	 SW-2501121C
2501126A	 S350/S350T Series Option Air Filter Extension Set 	1	 SW-2501126A
2502040-02	 S350T Body Mount with Fuel Tank Ring-pull	 1	 SW-2502040-02
2503260	 S353 Series Plastic Inserts Set	 1	 SW-2503260
2503261A	 S35-3/GT Series Gear Box Set (Fit 5x13x4mm Ball Bearing)	2	 SW-2503261A
2503262	 S35-3 Nitro Buggy Radio Tray Set	 1	 SW-2503262
2503264A	 S35-3 Series Front Steering Knuckle (Type 2.0) L	 1	 SW-2503264A
2503270-1	 S35-3 Series Front Upper Arms	 2	 SW-2503270-1
2503270-2	 S35-3 Series Rear Upper Arm Outside Ball Ends	 4	 SW-2503270-2
2503270-3	 S35-3 Series Front Steering Ball Ends	 2	 SW-2503270-3
228001DG	 S35-4 Series Plastic Inserts Set (Durable)(Gray)	 2	 SW-228001DG
228002-1	 S35-4 Series Plastic Rear Wheel Hub (R=L)	2	 SW-228002-1
228002-2	 S35 Series Plastic Front Chassis Shorty Brace 	1	 SW-228002-2
228003A	 S35 Series Integrated Wing Mount Set 2.0 	1	 SW-228003A
228004A	 S35-4 Series Plastic Side Guard Set with Stopper	 1	 SW-228004A
228005H-F	 S35-4 Series Front Lower Arm in Soft Material	2	 SW-228005H-F
228006	 S35 Series Shock End/Body Mount/Ball Ends Set	 2	 SW-228006
228008BK	 SWORKz 1/8 Off Road Formula 2.0 Race Wing (BK)	1	 SW-228008BK
228015H	 SWORKz S35-4 Series Arched-Bridge-System Rear Lower Arm Set (Hard) 	 2	 SW-228015H
228017	 S35-4/e EVO Series Lay-Down Type Steering Bellcrank Set 	1	 SW-228017
228021	 SWORKz 1/8 Steering and Throttle Servo Horn Set	 1	 SW-228021
228016-1.2-8	 SWORKz 1/8 BBS Precision Plastic Shock Piston(1.2X8Holes)	2	 SW-228016-1.2-8
228016-1.3-8	 SWORKz 1/8 BBS Precision Plastic Shock Piston(1.3X8Holes)	2	 SW-228016-1.3-8
228016-Seal	 SWORKz 1/8 BBS Precision Plastic Shock Seal Part (2 Sets)	2	 SW-228016-Seal
224007L3.5-6	 SWORKz 1/10 Plastic Ball End XS (5.5mm)	 2	 SW-224007L3.5-6
210046	 S350 Series LDS  Universal Cross Drive Shaft Set 92.5mm (1pc)	 4	 SW-210046
210043	 S350 Professional Matel Brake Calipers 2.0 A Side	 2	 SW-210043
210043	 S350 Professional Matel Brake Calipers 2.0 B Side	 2	 SW-210043
210018	 Brake Spring	 2	 SW-210018
210018	 Throttle Rod 50mm	 1	 SW-210018
210018	 Throttle Rod Spring	 1	 SW-210018
210018	 Brake Rod 60mm	 2	 SW-210018
200193	 Antenna Tube	 1	 SW-200193
258001CN	 S35 Series Falcon ST-4 Clean Body Shell (Pre-Cut for Nitro Buggy)	1	 SW-258001CN
320010	 S35-3W Diff. Bevel Gear 10T	 12	SW-328001
320009	 S35-3W Diff. Bevel Gear 20T	 6	 SW-328001
330006	 Tornado Clutch Shoes	 3	 SW-330006
330008A	 SWORKz Tornado Fly Wheel Set (GM)	 1	 SW-330008A
330008A	 Tornado Fly Wheel Center Nut	 1	 SW-330008A
330008A	 Fly Wheel Collect	 1	 SW-330008A
330015	 Pin M2.2x9.9mm	 6	 SW-330015
330100A	 S350 Engine Mount (L) (HC)	 1	 SW-330100A
330100A	 S350 Engine Mount (R) (HC)	 1	 SW-330100A
330104	 Brake Cam (S)	 1	 SW-330104
330104	 Brake Cam (L)	 1	 SW-330104
330104	 Brake Cam	 1	 SW-330104
330117A	 S350 Series Knuckle Pivot Ball Washer(GM)	 2	 SW-330117A
330118A	 S350 Series Knuckle Pivot Ball Nut(GM)	 4	 SW-330118A
330119	 Front Upper Arm HingPin	 2	 SW-330119
330122A	 S350 Wheel Nut (HC)	 4	 SW-330122A
330123A	 S350 EVO Rear Upper Sus. Arm Turnbuckles M5x38mm	2	 SW-330123A
330124	 Pin M3.0x16.8mm	 4	 SW-330124
330125	 Rear Upper Sus. Arm Ball Stud	 4	 SW-330125
330126A	 S350 EVO Steering Turnbuckle M4x40mm	2	 SW-330126A
330134	 Shock Ball Stud	 12	SW-330134
330136	 Sway Bar Ball Stud	 4	 SW-330136
330137	 Clutch Bell 13T	 1	 SW-330137
330138B	 S350 EVO Aluminum Shock Cap Stud (-1.3mm)	4	 SW-330138B
330140A	 Pipe Holder (GM)	 1	 SW-330140A
330140A	 Pipe Spring	 1	 SW-330140A
330155	 Steering Servo Turnbuckle (M3x30mm)	 2	 SW-330155
330156A	 Adjuster Knob(GM)	 4	 SW-330156A
330157A	 Brake Adjuster Knob(GM)	 2	 SW-330157A
330243	 SWORKz 3x16mm Shock Hex Screw Clockwise	 2	 SW-330243
330244	 SWORKz 3x16mm Shock Hex Screw Anti-Clockwise	 2	 SW-330243
330299	 S104 Steering Linkage Ball Stud 5mm	 2	 SW-330299
330399B	 S35-3 Series Aluminum Rear Chassis Brace Mount (GM)	 1	 SW-330399B
330557	 S350 New BBS System Shock Seal Cap (GM)	 4	 SW-330557

   Par ts  No.  List

330560B	 S35 New BBS System Shock Spring Adjust Nut (BK)	4	 SW-330560B
330580C	 S35 Nitro Series Competition Brake Disc 	2	 SWC-330580C
330633	 S350 BBS System +5.6mm Shock Body L (HD)	2	 SWC-330633
330634	 S350 BBS System  +5mm Shock Body S (HD)	 2	 SWC-330634
330647	 S350 BBD Special Brake Cam 	 1	 SWC-330647
330661A	 S35-T/S35 Series Competition Center Drive Join (5mm set screw)	2	 SW-330661A
330663A-112	 S35 Competition Steel F-Center Drive Shaft (ST-112mm)	 1	 SW-330663A-112
330767A	 S35-3 Series Steel F-Center Dive Shaft (88mm)	 1	 SW-330767
330770	 S35-3 Series Aluminum Rear Changeable Lower Arm Holder 	1	 SW-330770
330782	 S35-3 Series Rear Hub Carriers Hinge Pin 	 2	 SW-330782
330779	 S35-4/e EVO Series Steering Linkage Steel Ball Stud 7mm (L6)	 2	 SW-330779
330779T-ST	 S35-4/e EVO Steering Linkage Steel Ball Stud 7mm (L6 Thread Type)	 2	 SW-330779T-ST
338011	 S35 series Pinion Gear Stopper (5x7x5.1mm)	 2	 SW-338011
338023	 S35-3W Pinion Gear 13T	 2	 SW-338023
338024	 S35-3W Crown Gear 43T	 2	 SW-338024
338025	 S35-3W Bevel Gear Shaft	 6	 SW-338025
338027	 S35-3W Front/Rear Diff. Outdrive 	 4	 SW-338027
338028	 S35-3W Center Diff. Outdrive 	 2	 SW-338028
338040	 S35-4 Series Center Spur Gear for Big Diff. Bevel Gear Case (47T)	1	 SW-338040
338043	 S35-3/4 Series Servo Saver Nut with Screw Fixed	1	 SW-338043
338048	 S35-4 Series Servo Saver Shaft	 2	 SW-338048
338056	 S35-4 Series Lower Arm Hinge Pin (68.5mm)	4	 SW-338056
338057A	 S35-4/e EVO Series T7 Aluminum Front Upper Arm Holder	1	 SW-338057A
338058A	 S35-4/e EVO Series 5mm T7 Aluminum Front Lower Arm Plate (FF)	1	 SW-338058A
338059	 S35-4 Series T7 Aluminum Front Lower Arm Holder (FR)	1	 SW-338059
338062A	 S35-4 Series BBS System Teflon Coated Durable Shock Shaft (L)	2	 SW-338062A
338063A	 S35-4 Series BBS System Teflon Coated Durable Shock Shaft (S)	2	 SW-338063A
338067	 S35-4 Series Emulsion/Bladder 2 Ways Syatem Shock Cap 	4	 SW-338067
338068	 S35-4 Series T7 Aluminum Shock Stud (L)	 2	 SW-338068
338070B	 S35 Series Rear Upper Sus. Arm Ball Stud (7.0mm Hex)	 2	 SW-338070B
338080	 S35 Series Lightened Wheel Hub for 8mm Axil (L5.5mm)	 4	 SW-338080
338082A	 S35-4/GT2/E Series T7075 Aluminum Intensity Rear/Front Narrow Lower Suspension Plate (RF)	1	 SW-338082A
338112	 S35-4 Series T7075 Aluminum Front Shock Tower for High Capacity Shock System	 1	 SW-338112
338113	 S35-4 Series T7075 Aluminum Rear Shock Tower for High Capacity Shock System	1	 SW-338113
338115	 S35-4 EVO Nitro Series T7075 Aluminum Lightened Main Chassis 	1	 SW-338115
338122-R	 S35/S350/Apollo Series Lightened Steering Knuckle Pivot Ball Turnbuckle (Clockwise)	2	 SW-338122-R
338122-L	 S35/S350/Apollo Series Lightened Steering Knuckle Pivot Ball Turnbuckle (Anti-Clockwise)	 2	 SW-338122-L
338123	 S35-4/e EVO Series Servo Saver Post Lay-Down Type (Hard Coated)	1	 SW-3380123
338124	 S35-4/e EVO Series T7 Aluminum Steering Plate	 1	 SW-3380124
338126	 S35-4/e EVO Series T7 Aluminum Settring Bellcrank Upper Part-A 	1	 SW-3380126
340003	 S35-3 Series Pro-composite Carbon Front Upper Arm Cover Set (1mm)	2	 SW-340003
340016	 S35-4 Series Pro-composite Carbon Rear Wheel Hub Adjust Plate (R=L)	4	 SW-340016
348005	 S35-4/e EVO Series Pro-composite Carbon Steering Knuckle Plate (L&R)	 2	 SW-348005
348006	 S35-4 EVO Nitro Series Pro-composite Carbon Center Diff. Plate	 1	 SW-348006
348007	 S35-4/e EVO Series Pro-composite Carbon Steering Bellcrank Plate	1	 SW-348007
420026	 S350/S350T Series Option Air Filter Extension Adapter	1	 SW-420026
420011	 Fuel Tube 	 2	 SW-420011
420010	 Antenna Cup	 1	 SW-420010
410038	 Super Silicone Tube 2455x30mm (Transparent)	1	 SW-410038
400002	 O-ring S5   4.8X1.5	 6	 SW-400002
400005	 Shock Spring Adjust Nut O-Ring	 4	 SW-400005
400006	 Shock Seal O-Ring	 8	 SW-400006
400009	 Shock Boot (L)	 2	 SW-400009
400010	 Shock Boot (S)	 2	 SW-400010
400019	 S350 New BBS System Shock Spring Adjust Nut O-Ring	4	 SW-400019
400020	 S350 New BBS System Shock Seal O-Ring 	4	 SW-400020
400024S	 S35 Series BBS System Hex-Cell Shock Bladder(Soft)	4	 SW-400024S
540003	 CABLE STRAPS FOR AIRFILTER 	 2	 SW-540003
518003	 S35 Series Falcon ST-4 Clean Body Shell Window Mask 	1	 SW-258001CN
518001	 S35-4 Body Decal Sheet	 1	 SW-258001CN
510080A	 SWORKz 1/8 Off Road Formula Race Wing Decal	1	 SW-228008BK
510091	 SWORKz Origional Logo Sticker	 1	 SW-510091
610019	 S35-3 Series Servo Saver Spring Dusty Protect Sponge 	1	 SW-610019
610020P	 S35 Series Center Big Bore Diff. Paper Gasket (0.4T)	 1	 SW-610020P
610023P	 S35-4 HET Diff. Paper Gasket (0.4T)	 2	 SW-610023P
610025	 SWORKz 1/8 Nitro Buggy High Density Air Filter Foam Set 	1	 SW-610025
115003A	 SWORKz Tornado Clutch Spring II (1.0mm)	 3	 SW-115003A
115005	 Rear Sway Bar 2.8mm	 1	 SW-115005
115006	 Rear Sway Bar 2.6mm	 1	 SW-115006
115008A	 Front Sway Bar 2.3mm	 1	 SW-115008A
115011A	 S35-GT Series Pipe Spring (L)	 1	 SW-115011A
105012	 M3x10mm Cap Screw 	 2	 SW-115012
115019	 Body Clip	 2	 SW-115019
115035A	 Front Sway Bar 2.2mm	 1	 SW-115035A
115098	 Brake Pad Spring	 4	 SW-115098

Part No.	 Part Name	 Q`ty in Use	 ltem No. Part No.	 Part Name	 Q`ty in Use	 ltem No.



41

   Spare Par t  List   Par ts  No.  List

Part No.	 Part Name	 Q`ty in Use	 ltem No.

   Par ts  No.  List

115182	 S35-4 Black Competition Front Shock Spring (US4-Dot)(62X1.6X7.5)	 2	 SWC-115182
115191	 S35 Series Competition Black Line Rear Shock Spring (RM3-Dot)(80X1.6X10.0)	 2	 SWC-115191
116004R	 Ball Bearing 6x10x3mm (Red Rubber Case)(4PC)	4	 SW-116004R
116006R	 Ball Bearing 8x16x5mm (Red Rubber Case)(10PC)	14	SW-116006R
116009	 Ball Bearing M5x8x2.5 ZZ (4PC)	 2	 SW-116009
116010R	 Ball Bearing 5x10x4mm (Red Rubber Case)	 2	 SW-116010R
116019R	 Ball Bearing 5x13x4mm (Red Rubber Case)	 4	 SW-116019R
117003	 Flange Ball Bearing 3x6x2.5mm	 4	 SW-117003
118003	 S35-4 EVO series Servo Saver Spring 	 1	 SW-118003
101004	 Washer 3.5X10X0.2mm	 12	SW-101004
101010A	 M3 Countersunk Washer (GM)	 4	 SW-101010A
101011	 M2.6x6xT0.6mm	 4	 SW-101011
101012	 M3x6xT0.6mm	 2	 SW-101012
101013	 3mm Spring Washer	 4	 SW-101013
101015	 M5x8xT0.4mm	 4	 SW-101015
101016	 M5x8xT0.8mm	 1	 SW-101016
101018	 SHIM 13x16x0.2mm	 12	SW-101018
101019	 SHIM 6.0x10.0x0.2mm	 1	 SW-101019
101020A	 S350 Sries 3mm Countersunk Washers (GM)	 2	 SW-101020A
101027	 S350 BBD Steel Washer 5X14X0.5mm	 3	 SW-101027
101039	 Steel Washer 5x12x0.3mm	 6	 SW-101039
103001	 M3 Nut Lock	 30	SW-103001
103003A	 Flange M3 Nut Lock (GM)	 5	 SW-103003A
103004	 M2.5mm Nut Lock	 8	 SW-103004
103007	 M3mm Nut Lock Thim (BK)	 2	 SW-103007
104002	 Set Screw M3x10	 1	 SW-104002
104004	 M3x3mm Set Screw	 13	SW-104004
104005	 M3x4mm Set Screw	 4	 SW-104005
104010	 M5x4mm Set Screw (Flat Bottom)	 6	 SW-104010
104011	 M4x4mm Set Screw (Flat Bottom)	 1	 SW-104011
105001	 M3x8mm Cap Screw 	 2	 SW-105001
105005	 M3x12mm Cap Screw 	 10	SW-105005
105006A	 M3x28mm Cap Screw full thread	 2	 SW-105006A
105007A	 M4x8mm I-Head Screw Thin	 4	 SW-105007A
105013A	 M3x25mm Cap Screw 	 4	 SW-105013A
105018	 M2x6mm Cap Head Screw	 1	 SW-105018
105021	 M3x6mm Conical Head Screw	 4	 SW-105021
106001	 M3x8mm Hex Soket OH/TP Screw	 3	 SW-106001
106002	 M3x10mm Hex Soket OH/TP Screw	 12	SW-106002
106003	 M3x16mm Hex Soket OH/TP Screw	 8	 SW-106003
106006	 M3x20mm Hex Soket OH/TP Screw	 5	 SW-106006
106007	 M3x12mm Hex Soket OH/TP Screw (HT)	 9	 SW-106007
106008	 M3x12mm Hex Soket OH/TP Screw	 6	 SW-106008
106009	 M3x25mm Hex Soket OH/TP Screw	 10	SW-106009
106013	 M2.5x8mm  1.5mmHex Soket OH/ST Screw	6	 SW-106013
106015	 M3x5mm Hex Soket OH/TP Screw	 2	 SW-106015
106020	 M2.5x5mm  1.5mmHex Soket OH/ST Screw	14	SW-106020
106022	 M2.5x14mm Soket OH/ST Screw (1.5mmHex)	4	 SW-106022
106025	 M2.5x8mm Hex Soket OH/TP Screw	 5	 SW-106025
106021A	 S35 Series M4x10mm Hex Soket OH/TP Set Screw	4	 SW-106021A
108001	 M3x12mm FH/ST HEX Screw	 18	SW-108001
108003	 M3x10mm FH/ST HEX Screw	 23	SW-108003
108005	 M3x14mm FH/ST HEX Screw	 4	 SW-108005
108006	 M3x8mm FH/ST HEX Screw	 21	SW-108006
108007	 M3x6mm FH/ST HEX Screw	 10	SW-108007
108008	 M3x35mm FH/ST HEX Screw	 4	 SW-108008
108010	 M4x10mm FH/ST HEX Screw	 6	 SW-108010
108012	 M4x16mm FH/ST HEX Screw	 8	 SW-108012
108013	 M4x8mm FH/ST HEX Screw	 1	 SW-108013
108015	 M3x16mm FH/ST HEX Screw	 2	 SW-108015
108019	 M2.6x6mm FH/ST HEX Screw	 2	 SW-108019
108021	 M3x18mm FH/ST HEX Screw	 2	 SW-108021
108029	 M2.0x4.6mm FH/ST HEX Screw (1.5mm HexHead)	4	 SW-108029

SW-228001DG	 S35-4 All Series Plastic Inserts Set (Durable)(Gray)(2 Sets)
SW-228002-1	 S35-4 Series Plastic Rear Wheel Hub (R=L)(2PC)
SW-228002-2	 S35 Series Plastic Front Chassis Shorty Brace (1PC)
SW-228003A	 S35 Series Integrated Wing Mount Set 2.0 
SW-228004A	 S35-4 Series Plastic Side Guard Set with Stopper
SW-228005S-F	 S35-4 Series Front Lower Arm in Soft Material (1PC)
SW-228015H	 SWORKz S35-4 Series Arched-Bridge-System Rear Lower Arm Set (Hard)(1PC)
SW-228006	 S35 Series Shock End/Body Mount/Ball Ends Set (2Set)
SW-228006-5	 SWORKz 1/8 Series Plastic Linkage Ball End (Shorty)(2PC) 
SW-228008BK	 SWORKz 1/8 Off Road Formula 2.0 Race Wing (BK)
SW-2501097B	 S35 Series Front Bumper (2PC)
SW-2501115	 S350 Rear Lower Arm Dusty Cover with Fuel Sprinkle Guard
SW-2501121C	 S35/S350 Series Ball End Set with Shock Plastic Parts 
SW-2501124	 S350 Center Diff. Mount Set (2 Set)
SW-2501126A	 S350/S350T Series Option Air Filter Extension Set 
SW-2501529	 S350 BX1/BR1Rear Chassis Brace
SW-2502040-02	 S350T Body Mount with Fuel Tank Ring-pull
SW-2503260	 S353 Series Plastic Inserts Set
SW-2503261A	 S35-3/GT Series Gear Box Set (Fit 5x13x4mm Ball Bearing)
SW-2503262	 S35-3 Nitro Buggy Radio Tray Set
SW-2503264A	 S35-3 Series Front Steering Knuckle (Type 2.0)  
SW-2503270-01	 S35-3 Series Front Upper Arms (2pc)
SW-2503270-02	 S35-3 Series Rear Upper Arm Outside Ball Ends (2pc)
SW-2503270-03	 S35-3 Series Front Steering Ball Ends (4pc)
SW-200193	 Antenna Tube
SW-210018	 Throttl Linkage Set
SW-210033-D90	 S35/Apollo Nitro Floating Fuel Filter System with 90 Degree Fuel outlet Tank
SW-210043	 S350 Professional Matel Brake Calipers 2.0 Set
SW-210046	 S350 Series LDS  Universal Cross Drive Shaft Set 92.5mm (1pc)
SW-210079A	 S35-4 Plastic Center Big Bore HET Diff Case
SW-210091	 S35-3W Plastic Front/Rear Big Bore Diff Case
SW-228016-1.2-8	 SWORKz 1/8 BBS Precision Plastic Shock Piston (1.2X8Holes)(2PC)
SW-228016-1.3-8	 SWORKz 1/8 BBS Precision Plastic Shock Piston (1.3X8Holes)(2PC)
SW-228016-DIY	 SWORKz 1/8 BBS Precision Plastic Shock Piston (DIY)(4PC)
SW-228017	 S35-4/e EVO Series Lay-Down Type Steering Bellcrank Set 
SW-228021	 SWORKz 1/8 Steering and Throttle Servo Horn Set
SW-224007L3.5-6	 SWORKz 1/10 Plastic Ball End XS (5.5mm)(2PC)
SW-258001CN	 S35 Series Falcon ST-4 Clean Body Shell (Pre-Cut for Nitro Buggy)
SW-328001	 S35-3/4 Series HET Diff. Bevel Gear Set
SW-330006	 Tornado Clutch Shoes
SW-330008A	 SWORKz Tornado Fly Wheel Set (GM)
SW-330015	 Pin M2.2x9.9mm
SW-330100A	 S350 Sseries Engine Mount Set (HC)
SW-330104	 Brake Cam Set
SW-330117A	 S350 Series Knuckle Pivot Ball Washer (GM)
SW-330118A	 S350 Series Knuckle Pivot Ball Nut (GM)
SW-330119	 Front Upper Arm HingPin
SW-330122A	 S350 Wheel Nut (HC)
SW-330123A	 S350 EVO Rear Upper Sus. Arm Turnbuckles M5x38mm
SW-330124	 Pin M3.0x16.8mm
SW-330125	 Rear Upper Sus. Arm Ball Stud
SW-330126A	 S350 EVO Steering Turnbuckle M4x40mm
SW-330134	 Shock Ball Stud 6mmxL6.7
SW-330136	 Sway Bar Ball Stud 
SW-330137	 Clutch Bell 13T
SW-330138B	 S350 Series Aluminum Shock Cap Stud (-1.3mm)(2PC)
SW-330140A	 S350 SeriesPipe Holder(GM)
SW-330155	 Steering Servo Turnbuckle (M3x30mm)
SW-330156A	 S350 Series Adjuster Knob  (Included Brake Adjuster Knob)(GM)
SW-330157A	 Brake Adjuster Knob (GM)
SW-330243	 SWORKz 3x18mm Shock Hex Screw Set (Anti-Clockwise)
SW-330252	 S350 BX1/BR1 Steering Knuckle Pivot Ball Turnbuckle
SW-330299	 S104 Steering Linkage Ball Stud 5mm (4pc)
SW-330399B	 S35-3 Series Aluminum Rear Chassis Brace Mount (GM)
SW-330557	 S350 New BBS System Shock Seal Cap (GM)
SW-330560B	 S35 New BBS System Shock Spring Adjust Nut (BK)
SWC-330580C	 S35 Nitro Series Competition Soltted Brake Disc 
SW-330633	 S350 BBS System +5.6mm Shock Body L 
SW-330634	 S350 BBS System  +5mm Shock Body S 
SW-330661A	 S35-T/S35 Series Competition Center Drive Join (5mm set screw)
SW-330663A-112	 S35 Competition Steel Center Drive Shaft (ST-112mm)
SW-330767A	 S35-3 Series Steel F-Center Dive Shaft (88mm)
SW-330770	 S35-3 Series Aluminum Rear Lower Fully Adjustable Toe-In Block (A)
SW-330779	 S35-4/e EVO Series Steering Linkage Steel Ball Stud 7mm (L6)
SW-330779T-ST	 S35-4/e EVO Steering Linkage Steel Ball Stud 7mm (L6 Thread Type)

   Spare Par t  List

Item No.     Part Name



42

   Spare Par t  List

SW-330782	 S35-3 Series Rear Hub Carriers Hinge Pin 
SW-338011	 S35-3 series Pinion Gear Stopper (5x7x5.1mm)(4PC)
SW-338014	 S35-3W T-7075AL Rear Lower Fully Adjustable Toe-In Block(3 degree)
SW-338023	 S35-3W Pinion Gear 13T
SW-338024	 S35-3W Crown Gear 43T
SW-338025	 S35-4 HET Bevel Gear Shaft (2pc)
SW-338027	 S35-4 Front/Rear HET Diff. Outdrive (2pc)
SW-338028	 S35-4 Center HET Diff. Outdrive (2pc)
SW-338040	 S35-4 Series Center Spur Gear for Big Diff. Bevel Gear Case (47T)
SW-338043	 S35-3/4 Series Servo Saver Nut with Screw Fixed
SW-338048	 S35-4 Series Servo Saver Shaft (2PC)
SW-338056	 S35-4 Series Lower Arm Hinge Pin (68.5mm)(2pc)
SW-338057A	 S35-4/e EVO Series T7 Aluminum Front Upper Arm Holder
SW-338058A	 S35-4/e EVO Series 5mm T7 Aluminum Front Lower Arm Plate (FF)
SW-338059	 S35-4 Series T7 Aluminum Front Lower Arm Holder (FR)
SW-338062A	 S35-4 Series BBS System Teflon Coated Durable Shock Shaft (L)
SW-338063A	 S35-4 Series BBS System Teflon Coated Durable Shock Shaft (S)
SW-338067	 S35-4 Series Emulsion/Bladder 2 Ways Syatem Shock Cap (2PC)
SW-338068	 S35-4 Series T7 Aluminum Shock Stud (L)(2PC)
SW-338070B	 S35 Series Rear Upper Sus. Arm Ball Stud (7.0mm Hex)
SW-338080	 S35/S350 Series Lightened Wheel Hub for 8mm Axil (L5.5mm)
SW-338082A	 S35-4/GT2/E Series T7075 Aluminum Intensity Rear/Front Narrow Lower Suspension Plate (RF)
SW-338112	 S35-4 Series T7075 Aluminum Front Shock Tower for High Capacity Shock System
SW-338113	 S35-4 Series T7075 Aluminum Rear Shock Tower for High Capacity Shock System
SW-338115	 S35-4 EVO Nitro Series T7075 Aluminum Lightened Main Chassis 
SW-338122-R	 S35/S350/Apollo Series Lightened Steering Knuckle Pivot Ball Turnbuckle (Clockwise)(2PC)
SW-338122-L	 S35/S350/Apollo Series Lightened Steering Knuckle Pivot Ball Turnbuckle (Anti-Clockwise)(2PC)
SW-338123	 S35-4/e EVO Series Servo Saver Post Lay-Down Type (Hard Coated)
SW-338124	 S35-4/e EVO Series T7 Aluminum Steering Plate
SW-338126	 S35-4/e EVO Series T7 Aluminum Settring Bellcrank Upper Part-A 
SW-348005	 S35-4/e EVO Series Pro-composite Carbon Steering Knuckle Plate (L&R)(1PC)
SW-348006	 S35-4 EVO Nitro Series Pro-composite Carbon Center Diff. Plate (1PC)
SW-348007	 S35-4/e EVO Series Pro-composite Carbon Steering Bellcrank Plate (1PC)
SW-340003	 S35-3 Series Pro-composite Carbon Front Upper Arm Cover Set (1mm)
SW-340016	 S35-4 Series Pro-composite Carbon Rear Wheel Hub Adjust Plate (R=L)(2PC)
SWC-330647	 S350 BBD Special Brake Cam 
SW-400002	 O-ring S5 4.8X1.5
SW-400005	 Shock Spring Adjust Nut O-Ring
SW-400006	 SWORKz 1/8 BBS Shock Seal O-Ring (8PC)
SW-400009	 Shock Boot (L)
SW-400010	 Shock Boot (S)
SW-400019	 S350 New BBS System Shock Spring Adjust Nut O-Ring (4pc)
SW-400020	 S350 New BBS System Shock Seal O-Ring (4pc)
SW-400024S	 S35 Series BBS System Hex-Cell Shock Bladder (Soft)(4PC)
SW-410038	 Super Silicone Tube 2455x30mm (Transparent)
SW-420010	 Antenna Cup
SW-420026	 S350/S350T Series Option Air Filter Extension Adapter
SW-510091	 SWORKz Origional Logo Sticker (2PC)
SW-540003	 SWORKz Cable Straps for 1/8 Buggy Airfilter (10PC)
SW-610025	 SWORKz 1/8 Nitro Buggy High Density Air Filter Foam Set (12 Sets)
SW-610019	 S35-3 Series Servo Saver Spring Dusty Protect Sponge (2pc)
SW-610020P	 S35 Series Center Big Bore Diff. Paper Gasket (0.4T)(3PC)
SW-610023P	 S35-4 HET Diff. Paper Gasket (0.4T)(3PC)
SW-101004	 Washer 3.5X10X0.2mm
SW-101010A	 M3 Countersunk Washer (GM)
SW-101011	 M2.6x6xT0.6mm
SW-101012	 M3x6xT0.6mm
SW-101013	 3mm Spring Washer
SW-101015	 M5x8xT0.4mm
SW-101016	 M5x8xT0.8mm
SW-101018	 SHIM 13x16x0.2mm
SW-101019	 SHIM 6.0x10.0x0.2mm
SW-101020A	 S350 Sries 3mm Countersunk Washers (GM)
SW-101039	 SWORKz HET Diff Steel Washer 5x12x0.3mm (10PC)
SW-103001	 M3 Nut Lock
SW-103003A	 Flange M3 Nut Lock (GM)
SW-103004	 M2.5mm Nut Lock
SW-103007	 M3 Nut Lock Thim Type (BK)(10PC)
SW-104002	 M3x10 Set Screw (10PC)
SW-104004	 M3x3mm Set Screw
SW-104005	 M3x4mm Set Screw
SW-104010	 M5x4mm Set Screw (Flat Bottom)
SW-104011	 M4x4mm Set Screw (Flat Bottom)
SW-105001	 M3x8mm Cap Screw 
SW-105005	 M3x12mm Cap Screw 

SW-105006A	 M3x28mm Cap Screw full thread
SW-105007A	 M4x8mm I-Head Screw Thin
SW-105012	 M3x10mm Cap Screw (10pc)
SW-105013A	 M3x25mm Cap Screw 
SW-105018	 M2x6mm Cap Head Screw
SW-105021	 M3x6mm Conical Head Screw (10PC)
SW-106001	 M3x8mm Hex Soket OH/TP Screw
SW-106002	 M3x10mm Hex Soket OH/TP Screw
SW-106003	 M3x16mm Hex Soket OH/TP Screw
SW-106006	 M3x20mm Hex Soket OH/TP Screw
SW-106007	 M3x12mm Hex Soket OH/TP Screw(HT)
SW-106008	 M3x12mm Hex Soket OH/TP Screw
SW-106009	 M3x25mm Hex Soket OH/TP Screw
SW-106013	 M2.5x8mm  1.5mmHex Soket OH/ST Screw
SW-106015	 M3x5mm Hex Soket OH/TP Screw
SW-106020	 M2.5x5mm  1.5mmHex Soket OH/ST Screw
SW-106021A	 S35 Series M4x10mm Hex Soket OH/TP Set Screw
SW-106022	 M2.5x14mm Socket OH/ST Screw (1.5mmHex)
SW-108001	 M3x12mm FH/ST HEX Screw
SW-108003	 M3x10mm FH/ST HEX Screw
SW-108005	 M3x14mm FH/ST HEX Screw
SW-108006	 M3x8mm FH/ST HEX Screw
SW-108007	 M3x6mm FH/ST HEX Screw
SW-108008	 M3x35mm FH/ST HEX Screw
SW-108010	 M4x10mm FH/ST HEX Screw
SW-108012	 M4x16mm FH/ST HEX Screw
SW-108013	 M4x8mm FH/ST HEX Screw
SW-108015	 M3X16mm FH/ST HEX Screw (10pc)
SW-108019	 M2.6x6mm FH/ST HEX Screw
SW-108029	 M2.0x4.6mm FH/ST HEX Screw (1.5mm HexHead)
SW-108021	 M3x18mm FH/ST HEX Screw (10PC)
SW-115003A	 SWORKz Tornado Clutch Spring II (1.0mm)
SW-115004A	 Servo Saver Spring
SW-115005	 Rear Sway Bar 2.8mm
SW-115006	 Rear Sway Bar 2.6mm
SW-115008A	 Front Sway Bar 2.3mm
SW-115011A	 S35 Series Pipe Spring (+10mm Longer)
SW-115019	 Body Clip
SW-115035A	 S35/350 Series Front Sway Bar 2.2mm
SW-115098	 Brake Pad Spring
SWC-115182	 S35-4 Black Competition Front Shock Spring (US4-Dot)(62X1.6X7.5)
SWC-101027	 S35 BBD Steel Washer 5X14X0.5mm
SWC-115191	 S35 Series Competition Black Line Rear Shock Spring (RM3-Dot)(80X1.6X10.0)
SW-116004R	 Ball Bearing 6x10x3mm (Red Rubber Case)(4PC)
SW-116006R	 Ball Bearing 8x16x5mm (Red Rubber Case)(10PC)
SW-116019R	 Ball Bearing 5x13x4mm (Red Rubber Case)(4PC)
SW-116009	 Ball Bearing M5x8x2.5 ZZ (4PC)
SW-116010R	 Ball Bearing 5x10x4mm (Red Rubber Case)(4PC)
SW-117003	 Flange Ball Bearing 3x6x2.5mm (2pc)
SW-118003	 S35-4 EVO series Servo Saver Spring 

Item No.     Part NameItem No.     Part Name



43

Item No.     Part Name

   Option Part  List

Item No.     Part Name
SW-115026A	 SWORKz Tornado Clutch Spring II (1.1mm)(GR)
SW-115077A	 SWORKz Tornado Clutch Spring II (0.9mm)(BK)
SW-116010B	 High Performance Ball Bearing 5x10x4mm (coffee)(4pc)
SW-250050	 SWORKz 1/8 Off Road  Formula Bulkhead Wing (4PC)/ Front Upper Arm's Wing Set (4PC)
SW-250050A	 SWORKz 1/8 Off Road  Formula Bulkhead Lexan Wing (0.8mm)(4PC)
SW-2501114-4	 S35-3/S350 Nitro Series Center Brake Disk Holder  
SW-2501121-10	 SWORKz 1/8 Series Shock Cap Insert (8pc)
SW-2503260-26	 SWORKz 1/8 Series 8x16x5mm BB Plastic Inserts (4PC)
SW-2501126	 Ail Filter Set 
SW-2501529H	 S35/S350 Series Hard Plastic Chassis Brace Set
SW-2503260FO	 S353 Series Colorful Plastic Inserts Set (FO)
SW-2503260FY	 S353 Series Colorful Plastic Inserts Set (FY)
SW-2503260LB	 S353 Series Colorful Plastic Inserts Set (SB)(2 SET)
SW-2503270-01H	 S35-3 Series Front Upper Arms with Hard Material (2pc)
SW-210079AH	 S35-4 Plastic Center Big Bore HET Diff Case (Hard)
SW-210091H	 S35-4 Plastic Front/Rear Big Bore HET Diff Case (Hard)
SW-218005	 S35-3/4 Series HET Center Big Bore Diff. Set (47T)
SW-218006	 S35-4 Series HET Front/Rear Big Bore Diff. Set (43T)
SW-218008	 S35-3 Series HET Diff. Combo Kit
SW-218026-F	 S35-4/e EVO Series BBS Higher Capacity Shock Complete Front Set
SW-218026-R	 S35-4/e EVO Series BBS Higher Capacity Shock Complete Rear Set
SW-218030	 S35-4WE to Evo Upgrade Conversion Kit  
SW-218031	 S35-4 EVO Lay-Down Type Steering Bellcrank Upgrade Package
SW-228013BK	 SWORKz 1/8 Off Road Pro-Speed 2.0 Race Wing (BK)(Pre-Holes)
SW-228013WH	 SWORKz 1/8 Off Road Pro-Speed 2.0 Race Wing (WH)(Pre-Holes)
SW-228013FY	 SWORKz 1/8 Off Road Pro-Speed 2.0 Race Wing (FY)(Pre-Holes)
SW-228001RD	 S35-4 Series Colorful Plastic Inserts Set (Red)
SW-228005S-F	 S35-4 Series Front Lower Arm in Soft Material (1PC)
SW-228005M-F	 S35-4 Series Front Lower Arm in Medium Material (1PC)
SW-228015S	 SWORKz S35-4 Series Arched-Bridge-System Rear Lower Arm Set (Soft)(1PC)
SW-228015M	 SWORKz S35-4 Series Arched-Bridge-System Rear Lower Arm Set (Medium)(1PC)
SW-228015U	 SWORKz S35-4 Series Arched-Bridge-System Rear Lower Arm Set (Ultra-Hard)(1PC)
SW-228022ABK	 SWORKz 1/8 Off Road Pro Race Wing (BK)(W/o Holes)
SW-228022AWH	 SWORKz 1/8 Off Road Pro Race Wing (WH)(W/o Holes)
SW-228022AFY	 SWORKz 1/8 Off Road Pro Race Wing (FY)(W/o Holes)
SW-300049	 SWORKz S35-3/S350 Series Rear Stainless Chassis End Protection (2PC)
SW-330006A	 Tornado Clutch Shoes (2set)
SW-330115	 Steering Knuckle Pivot Ball Turnbuckle
SW-330116	 14mm Knuckle Pivot Ball 
SW-330125A	 S350 Series Aluminum Rear Upper Sus. Arm Ball Stud (4pc)
SW-330134A	 S350 Series Aluminum Shock Ball Stud (4pc)
SW-330136A	 S350 Series Aluminum Sway Bar Ball Stud (4pc)
SW-330168A	 S35-3 Series Rear Chassis Blance wight 15g (2pc)
SW-330202	 S-WORKz Turbo Tornado Fly Wheel Set
SW-330398A	 SWORKz S350 Series Pro Wheel Nut (GM)
SW-330420	 S350 Series Knuckle Pivot Ball Balance Nut (5.5g) (2pc)
SW-330424	 S350 Series Aluminum Wing Holder (RED)
SW-330424B	 S350 Series Aluminum Wing Holder (BK)
SW-330424G	 S350 Series Aluminum Wing Holder (GM)
SW-330505A	 S35 Series Lightened Wheel Hub for 8mm Axil (L6.5mm)
SW-330506A	 S35 Series Lightened Wheel Hub for 8mm Axil (L5.0mm)
SW-330568	 S350 Buggy Series Aluminum Center Diff. Mount
SW-330767	 S35-3 Series T-7075 Aluminum F-Center Dive Shaft (88mm)
SW-330779T-AL	 S35-4/e EVO Steering Linkage Aluminum Ball Stud 7mm (L6 Thread Type)(4PC)
SW-338029-16	 S35-4 Series High Density Clutch Bell 16T
SW-338029-17	 S35-4 Series High Density Clutch Bell 17T
SW-338030-57	 S35-4 Series High Density Spur Gear for Big Bore Diff. Case (57T)
SW-338030-58	 S35-4 Series High Density Spur Gear for Big Bore Diff. Case (58T)
SW-338030-59	 S35-4 Series High Density Spur Gear for Big Bore Diff. Case (59T)
SW-338030-60	 S35-4 Series High Density Spur Gear for Big Bore Diff. Case (60T)
SW-338036	 SWORKz 1/8 Nitro Series Pipe Spring Lock (1 set)
SW-338039	 S35-3/4 Series Center HET Spur Gear (46T)
SW-338041	 S35-3/4 Series Center HET Spur Gear (48T)
SW-338070A	 S35 Series Rear Upper Arm Aluminum Ball Stud (2PC)
SW-338075	 S35-4 Series T7 Aluminum Rear Wheel Hub (R=L)(2PC)
SW-338078-25	 SWORKz Uni-Design 2-Way System Aluminum Steering Servo Horn 25T
SW-338078-23	 SWORKz Uni-Design 2-Way System Aluminum Steering Servo Horn 23T
SW-338079-25	 SWORKz Uni-Design Aluminum Throttle Servo Horn 25T
SW-338079-23	 SWORKz Uni-Design Aluminum Throttle Servo Horn 23T
SW-340003A	 S35-3 Series Pro-composite Carbon Front Upper Arm Cover (1.5mm)(2PC)
SW-340022-10	 S35-4/E Series Pro-composite Carbon Front Lower Arm Cover (1mm)(2PC)
SW-340022-15	 S35-4/E Series Pro-composite Carbon Front Lower Arm Cover (1.5mm)(2PC)
SW-340022-20	 S35-4/E Series Pro-composite Carbon Front Lower Arm Cover (2mm)(2PC)
SW-400021	 S350 New BBS System Shock Bladder (Soft)(4pc)
SW-410023	 Air Filter Adapter

SW-400023	 S35-4 Series BBS System  Seal O-Ring for Emulsion Shock Cap (4PC)
SW-400024M	 S35 Series BBS System Hex-Cell Shock Bladder (Medium)(4PC)
SW-610025C	 SWORKz 1/8 Nitro Buggy High Density Air Filter Foam Set with Air Filter Oil
SW-348003-10	 SWORKz S35-4 Series Pro-composite Carbon Arched-Bridge-System Rear Lower Arm Cover (1.0mm)(2PC)
SW-348003-15	 SWORKz S35-4 Series Pro-composite Carbon Arched-Bridge-System Rear Lower Arm Cover (1.5mm)(2PC)
SW-348003-20	 SWORKz S35-4 Series Pro-composite Carbon Arched-Bridge-System Rear Lower Arm Cover (2.0mm)(2PC)
SWC-116006C	 SWORKz Competition 8x16x5mm Ball Bearing (Metal Case)(6PC)
SWC-116010C	 SWORKz Competition 5x10x4mm Ball Bearing (Metal Case)(6PC)
SWC-116019A	 SWORKz Competition 5x13x4mm Ball Bearing (Metal Case)(4PC)
SWC-116019B	 SWORKz Competition 5x13x4mm Ball Bearing (Metal Case/Japan)(4PC)
SW-115007	 S35/S350 Series Rear Sway Bar 3.0mm
SW-218001	 S35/350 Series Font Sway Bar Set (2.0/2.1/2.2/2.3/2.4/.2.5/2.6/2.8mm)
SW-218002	 S35/350 Series Rear Sway Bar Set (2.4/2.5/2.6/2.7/2.8/3.0mm)
SWC-218022-N	 SWORKz S35-4/T2/GT2 Nitro Competition Ball Bearing Kit (Metal Case)(20PC)
SWC-210088	 S35-3 Nitro Series  Pro-composite Carbon One Unit Radio Tray Set
SWC-210082A	 SWORKz S35/GT Competition Ball Bearing Kit (Metal Case)(20PC)
SWC-340007	 S35-3 Series Pro-composite Carbon Front Upper Done Force Wing Set
SWC-338006	 SWORKz Tornado Hi-Performance Lightened Clutch Bell (13T)
SWC-338020	 SWORKz Tornado Hi-Performance Lightened Clutch Bell (14T)
SWC-338015	 S35-3 T-7075AL Rear Hub Carry for Wide Suspension (R=L)(1pc)
SWC-115183	 S35-4  Black Competition Front Shock Spring (US3-Dot)(62X1.6X7.75)
SWC-115184	 S35-4  Black Competition Front Shock Spring (US2-Dot)(62X1.6X8.0)
SWC-115190	 S35 Series Competition Black Line Rear Shock Spring (RM4-Dot)(80X1.6X9.75)
SWC-115192	 S35 Series Competition Black Line Rear Shock Spring (RM2-Dot)(80X1.6X10.25)
SWC-218007A	 S35 Series Evolution-CVA Drive Shaft Set 92.5mm (1 Sets)
SWC-218007D	 S35 Series Advance-CVD Drive Shaft Set 92.5mm (1 Sets)
SWC-338071	 S35 Series Advance-CVD Drive Axil (1PC)
SWC-338072	 S35 Series Advance-CVD Drive Shaft (92.5mm)(1PC)
SWC-338073	 S35 Series Evolution-CVA Drive Axil (1PC)
SWC-338074	 S35 Series Evolution-CVA Drive Shaft (92.5mm)(1PC)
SWC-338076	 S35 Series E-CVA/A-CVD Pin M2.5x14 (2PC)
SWC-338077	 S35-4 Series E-CVA/A-CVD Axil Join (2PC)
SWC-228012	 1/8 E-CVD/A-CVA Axil Holder (10PC)
SWC-218020-6LD	 S35 Series 1-Unit-Fit Aluminum Engine Mount Set (6 Degree Lay-Down) 
SWC-218020-4LD	 S35 Series 1-Unit-Fit Aluminum Engine Mount Set (4 Degree Lay-Down)
SWC-338095	 S35 Series 1-Unit-Fit Aluminum Engine Mount (6 Degree Lay-Down)
SWC-338096	 S35 Series 1-Unit-Fit Aluminum Engine Mount (Upper)(2PC)
SWC-338097	 S35 Series 1-Unit-Fit Aluminum Engine Mount (4 Degree Lay-Down)
SWC-338102	 S35 Series Pro-Titanium Pivot Ball Turnbuckle (2PC)
SWC-338103	 SWORKz 1/8 Series Pro-Titanium Linkage Turnbuckle (M5x35mm)(2PC)
SWC-338104	 SWORKz 1/8 Series Pro-Titanium Linkage Turnbuckle (M4x40mm)(2PC)
SWC-338105	 SWORKz Pro-Titanium Linkage Turnbuckle (M3x30mm)(2PC)


